od =+ k=) =0 X B X3 Ct
HRREMO AR sMIS9| X+ 2= =4 HH
1. 21851310 A=2SHE AHToF 20| CF ALt 5. o{EA SHOkSHR?
A HR0| T HCH QASH AT, T= 2 YHO| (12 YHOR MMHFMR. T TH2 MY
o O AFAL0| LS = A HENR?

AL HES J&0 et 52 HE B0l Tel S7/tLskA| 02 20| EdE + AU of

WO AR ABAIZE TTOItEH HIO MFE FAokl, JIEN MEME FES HAl AESHH %
e HEZ = f A 48AZH OLH
? FE MAB0| 0= MetA FZS 018010 HOE Hgohs ¢ & =+ flgUt

o
U

Z ME 7[22 AKX 217t27?

FE AA< O|

T oflFA0F

I?_f% gafo| oMU pdaU. sttt L+tols AR /(20| RUED, 0[S

II°" oto

St BEXR0P) YEsal U

7. IHE ZHOIX|HM FES S=ole] sk=0l S50| 2 Lty L. LRHIAIX|
7t == o{Cjoct7t 20 EH EUR?

0| @3z 7t HZoNFAIH HAHISELITE | https://comento.kr/help

T35S ZUE SHOXO 2121 3 £, F ST AMF 00|12 -) W FE -) MHsh A0
M =9l = PDFIEZ H22E s + AgUt


https://comento.kr/help

@ comenTo

10. =ZFZ0| Af=HEl 2 Z0iL.

Ol
=
N
%)
pd
n
rr

— LS——
BN AZYUL. SA| FAARZ0| 7IRE
Agez =79 2, FES 55 1 0|= Ho|A5 AZCR S07IM IS HCH IE0| gl=

o e

SAl AFHOl 271 O[YOIX P24l 71Q7 TFUEE= 4712 SNS= 271910| 7hs

0| S

ol

270tRol FES ST AZC=Z Ol 210 iFM Q.

1. &2X2

rlo

o <
0B

=

m

C

o]

=~

H AUH. U = TS SEOH| ZJYUHH +=8 4 glgUH.

Of: 24 HH £ = 3¢ & 18 OIFNEM = £ MDA -) =& 75

Of: % 3¢ 2% &0 AN 4 & 28 OIFH -) =& 27t

T=52 ORI =g 0= Z|tf 12 0|0, &5 7IsEU.

a
g E= H20= o= (RS 2dcks dS AXIE=Z, HE 20 THAl oF H HQIGHFN Q.



